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QUESTION 1

An administrator is deploying a new mission critical database. The database requirements are 12 vCPUs and 24GB of
RAM. 

What can the administrator enable for the lowest possible downtime? 

A. DRS 

B. vSphere replication 

C. fault tolerance 

D. proactive HA 

Correct Answer: D 

 

QUESTION 2

Which vSphere feature is designed to distribute space usage and I/O load across multiple datastores? 

A. Storage Policies 

B. vStorage API for Array Integration 

C. Storage I/O Control 

D. vSphere Storage DRS 

Correct Answer: D 

 

QUESTION 3

What are two requirements to implement vTPM in a vSphere environment? (Choose two.) 

A. select EFI firmware for VM 

B. enable TPM on ESXi host 

C. enable UEFI Secure Boot 

D. use VM hardware version 14 

E. disable Quick Boot 

Correct Answer: AD 

 

QUESTION 4
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Which migration technique could be used to move a VM between vCenters while the VM is powered on? 

A. Suspended 

B. Shared-nothing vSphere vMotion 

C. Cold D. Storage vMotion 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vcenterhost.doc/ GUID-
FE2B516E-7366-4978-B75C-64BF0AC676EB.html 

 

QUESTION 5

A VSS is configured with two uplinks and assigned a load balancing policy route based on a virtual port ID. What are
two potential disadvantages of this configuration? (Choose two.) 

A. A VM with a single MAC address is limited to the speed of the uplink associated with the relevant port ID. 

B. Higher resource consumption compared to other load balancing algorithms will occur. 

C. The virtual switch is unaware of uplink load and uplinks might become overloaded. 

D. The NIC with less load is more likely to be chosen if port IDs match. 

E. ESXi will use NIOC to attempt to mitigate network congestion when an uplink becomes saturated. 

Correct Answer: AC 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.networking.doc/GUIDA4F1BF4B-8199-45A1-9578-1E4B6B08DAB0.html 
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